#E TR

S RCEK

(

=B

) ERERFE

h%\yOEBT*lJEF&ZQE 5 A 21 B(A)

n—FEE|FR £ A B( ) EHELT-
35,77+ B | 1~ A% A C EfEH BF k. KF k| | B RRBEHRE #1555 (AE 333, 33m)
EiEE EiEE B St EFEtH R -FED
EE: 1=
amTP | s | ®FE |L| BTE |L| R4 84 Ly TS e | BFE |L| EFE |L| R4 B4 L

Miz| HBERE jgf;ﬁ 2 E;;ﬁk;ﬂ 2 =B | 4’45728 14

s B

ofir| =Rt i;g;“;;‘% Z fiﬁi 2 =R | 447715 241

3 3

44 4fi

51i 51i

6fi 61i

74 74k

8fit 8fit




B4 L

ATk EFL SE R4 B4 200m#44 L R9Z9F | EFA 24 B4 =

14 14
24 24

31 31

44 441
541 541
611 611
751 71
81 81

ofir ofix

101 104

1kmTT BER | ¥E 22 = R % X FR = e

m = = 24 B4 B4 Ls NA-R| EF4£ R4 B4 )
14z| AEBE#E 3 =Rit =B 1'08"54 14z
2fi| ZEH®E 3 BERB = 108”71 241

36| FEIRMAE | 3 BEREG = 1710707 34

AGT| FEREIEZE 3 =Rit =B 1711784 44
54| AR 2 =Rit = 1712”779 541
6| RBIN#EX | 2 BERB = 114718 611
76| AR 3 =Rit =B 1714”30 741
8fiI| FMRE 2 =Rit = 114”53 811

ofir| FH Lt 2 =Ri = 1714772 ofiL

104 BIFEA 3 =Rit =B 1’15729 1041




3kmlP EF4 FA FiR4 B4 EEEN 4kmiRE EF4L FA FiR4A B4 SE34 L
12| ATEREREE 3 BEREG = 336”706 143z
21| BBz 2 BERE =B 340777 2431
36| AT 2 =Rit = 3’49795 3L
461 BIBEEA 3 =Rit = 3'51"54 44
56| FERE 2 =Ri =B 3’53796 541
6| FHLFnth 2 =Ri = 354”24 611
7HI| B 2 =Rit = 3'55"52 741
8fI| IEEESE 2 BERE =B 3'56”18 811
ofiL| HIBKFH 2 =Rit = 3’59”"16 ofiL

104 T FEH 2 =Ri = 4’03"68 1041

gy | wmEe |z $H 2 Rz | sEsqs | (Bh | mza |2s $H 2 R T
14 14
241 241
31 31
4 44
511 51
61 611
71 7451
81 81
ofix ofix

104 104




ZFIER

500mTT EFA 24 B4 BA L 2kmIP EF4 24 ¥ BA L
16| &HEBE BEFBG = 48”51 16| &HEBE BERR = 3'17794
24 24
31 31
X iy) 41
541 51
611 61
7 i1 71
81 81
o 9z

101 104
B | aTs S Re T
14
241
31
41
51
611
751
81
ofix

101z




